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NEET MICRO TEST 5 (15.11.2024)

Botany: Anatomy of flowering plants, Zoology: Body fluids & circulation
Chemistry: Thermodynamics, Physics: Work, Energy & Power

1. Which cells are equivalent to companion cells in

the gymnosperms?

1) Parenchyma

2) Albuminous cells
3) Sieve cells

4) Sieve tube elements

2. Unrelated character regarding trichomes is

1) Multicellular structures
2) Prevent water loss

3) Absorption of water

4) Branched or unbranched

3. Which of the following are absent in most of the

monocot stems?
I) Cambium

I1) Endodermis
[11) Pericycle

IV) Hypodermis
I, and I

2) 11, 11l and IV
3) I, Iland IV

4) 1, 1, Il and IV

4. Mark the incorrect statement w.r.t guard cells in

stomata

1) In grasses these are dumb-bell shaped

2) Cellulosic fibrils are arranged longitudinally

3) Regulates opening and closing of stomata

4) Outer walls are thin and inner walls are thick
in dicots.

5. Match the following.

a) Casparian bands i) Monocot stem

b) Scattered vascular|ii) Dicot root
bundles
c) Eustele iii) Isobilateral
leaf

iv) Dicot stem

d) Bulliform cells

1) a-i, b-ii, c-iii, d-iv
2) a-ii, b-1, c-lv, d-iii
3) a-iii, b-iv, c-ii, d-i
4) a-iv, b-iii, c-i, d-ii
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1.

20x4=80 MARKS

D Genmerd QLTI 611160 o _eiter
OF60BEHBEGF FLOLDTET CF60HEIT WITeN6U?
1) unyesTenesLDT
2) sieoLillererd GlFe0H6
3) gevevenL CFe0®6I
4) F60606ML GHIDTUI Fn1IH6NT

SN 60T

LeogsGamibser  OHTLumer  OHTLTLls0e0TsH
FHETENLD
1) LLOFEIEIGVTT SIENLOLIL|EBH6IT
2) By Bpliwus SESGD
3) By 2_Miehaised
4) HeneNm6iT SIG0VSH! Be6HET BeV6VTHE

LTevT6u(hHeUesTeUMBN3I60 Qf:s)| OumLbUTeLT 6T
RHGHHMmev HeiBHerTe0 Be0en60?
1) Gaibiiuwib
1) 915585160
1) Qufleng e
IV) uBs8sT6d SI95HBHT6e0
1)1, Iland IHI
2) 11, 1l and IV
3) 1, lland IV
4) 1, 11, Nl and 1V

4. Bensoglenenuied &ML GFeosemenl LB SHeupmeot

FaBenB Gldeea]|b

1) uBseied Bemau FrIeNT &L ML aUIQaISHIH 60

BHSGID

2) OQoeoBeundld  HTNeNDSET  [S6mOTS
DIWLOSBLILIL19(HEHELD

3) Bmegimer  HBOLMSUD  PBEIMSBUID
PUEGLBSSIFBI

4) GeuellIuBs SeuTEen OV WISTHAD 2 6iT
G6UTH6IT [OYWEEICERIRY SIQLOGITHELD
BHHGD.

5. Usitau(meuetauBenmLl QUIT(HEHSHeLD.

a) &merdo@uifluest 1) @BalsHHmev HewiH

LI 60L_&6IT

b) Hamlur aumerd@evir i) BmalsHHemed Gauir

SMENBHEIT

C) u}6rdlesd i) ®muss Benev

d) LeveV. UMD QFevH6N  |IV) B(halldHHemev
(0]

1) a-i, b-ii, c-iii, d-iv
2) a-ii, b-i, c-iv, d-iii
3) a-iii, b-iv, c-ii, d-i
4) a-iv, b-iii, c-i, d-ii
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6. The possibility of exposure of maternal blood to

the foetal blood is during

1) 1% trimester of pregnancy
2) The delivery of child

3) 2" trimester of pregnancy
4) 3" trimester of pregnancy

7. Select the incorrect match w.r.t. formed elements

of humans.

1) RBCs — Average life span of 120 days

2) Haemoglobin — 12-16 gms/100 ml blood

3) WBCs — Averages 600-800 mm™ of blood in
normal individuals

4) Platelets — Considered as cell fragment

8. Match the followin

a. Superior venal|i) Carries oxygenated blood
cava

b. Inferior venalii) Carries deoxygenated blood
cava

C. Pulmonary|iii) Brings deoxygenated blood
artery from lower part of body to
right atrium
d. Pulmonary|iv) Brings deoxygenated blood
vein from upper part of body to
right atrium

1) a(i), b(ii), c(ii), d(iv)
2) a(iv), biii), c(ii), d(i)
3) a(iii), b(iv), c(ii), d(i)
4) a(ii), b(i), c(iv), d(iii)

9. Cardiac disorder which is characterised by sudden

10.

damage to heart muscles due to inadequate blood
supply is

1) Heart attack

2) Heart failure

3) Cardiac arrest

4) Atherosclerosis

Statement-A: A portal vein does not carry blood
directly to the heart but forms a network of
capillaries in another or intermediate organ
before reaching the heart.

Statement-B: Two portal systems are present in
humans.

1) Both statements A and B are correct.

2) Only statement A is correct.

3) Only statement B is correct.

4) Both statements A and B are incorrect.
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6. amalear ByHHHHIL 61 STuler BrsHsd GeuefiLpD
FTHSH WD
1) SICILSHST (LPS&H6D LGB! LOTHBIHET
2) &b SHuler LIFFeaild
3) SILILSHET 2 QUGB! CLPGHTDI LOTHBIB 6N
4) sFlubH et 3 eug PRI LOTHBIBH6IT

7. iGHTHeMet HbBHHIBIBMET LMY HEUMTET

CUThSSHMSS CHIHOHBHBD

1) faul'i BTHS DiEISHH6IT - FITFS UL HT6VLD
120 pr_sei

2) anfBuom@Genmmiiest - 12-16 gms/100 ml §yssib

3) WBCseit - gngmgemt BUTHeMNe0 Fymafluins
600-800 mm~ @yssid

4) @655 BB6T - CFD  HIBETHNTS
BHSULGEBSI

8. Lleeu(meuaeumenmL! QUITHHSHLD.

a. Guom 1) 9LHenImGampriiL L
OLGEGHS DT |BTSSSDS Tb6SHIF CFOS B

b. Sip i) spsaimans Br6ssms
QumehFewy  [TBHHIF CFOH MBS

C. piewguied |iii) ouberiegeanip AIHSSMS
SHLO6D o L eflen S LUGH U ([HbHAH 6160
JLWHIBES CabTenih eubdBa)

d. mewguiyed |iV) o 1 elet Gosd LG &uled B Hbg
ey QUGS gl;u‘]u_lg}gﬁﬂ'}@ SidbalgganB®
815550 CBTMIB BSBSI

1) a(i), b(ii), c(ii), d(iv)
2) a(iv), biii), c(ii), d(i)
3) aiii), b(iv), c(ii), d(i)
4) a(ii), b(i), c(iv), d(iii)

9. Gurdw BrHs SFHEBILLLOGEND  HTTERILOTS
Bpwsdh Hmaseled gBUBL Hlef CFsHdHsmed
AUMBLILBGSHSLILBLD B FHuid CHmenmm)

1) wryenL iy
2) ®%W QFwedpriL
3) WTyenLLiL]
4) Qu@pbBLaN HigiiL]

10. sppi-A: @b Biw devg QrSHHmS ChIguLITS
BepwHHBG OCarewih  OFeLeOTH,  HLEIT6D
BsUSMS DDLU  (1PEST  BEBTH  Si6L603)
BML_[Hlemev o mirniev EERENEE RG]
QUMELLIMLOLIENL! 2 (ThHeUTEGHSIBH.

BmI-B: welsiseiey BTeni(H HIeDLD DIHLOLILISHET

9 GIT6IT6N.

1) A opgid B o QrewiG  gmBmisbemnid
FflWITeTenel.

2) A aia5iB gaimi ol GG Ffluimend.

3) gamim B 1ot GG sfluimeng.

4) A oppib B o Byewih  gnBmisernid
SHAUBTEINE.
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11. In which case AS is positive?
1) H20q) — H20¢)
2) H20¢g) — H20qy
3) Ha@) — 2H(q)
4) N2(g) + 3H2(g) — 2NHjz(g)

12. Match the following

A) Entropy of vaporisation|i) Decreases

B) AStotal fOr spontaneous |ii) is always positive

C) Crystalline solid state |iii) Lowest entropy

D) AU in adiabatic|;

|V) AHﬂ
expansion of ideal gas

1) A-ii, B—iii, C—iv, D-i
2) A-iv, Bii, C—iii, D-i
3) A-iii, B-ii, C—iv, D-i
4) A—i, Bii, C—iv, Diii

13. AH = AE is of the case
1) C2Ha(g) + H2S(g) — C2He(q)
2) Cs) + CO2(g) — 2COyg)
3) NH4HS(g) — NHs(g) + H2S()
4) CHa(g) + 202(g) — CO2(g) + 2H20(q)

14. Enthalpy change when 1 mole of H>SOs in
completely neutralized by NaOH is

1) -13.7 K. Cal

2)-27.4 K. Cal

3) —6.85 K. Cal

4) +27.4 K. Cal

15. C(s) + %202 — CO(s); AH® = -26 K.cal/mol

COg) + %2025) — CO2); AH® = —68 K.cal/mol
Which is/are correct statement(s)?

1) Heat of formation of CO: is —68 K.cal/mol

2) Heat of combustion of C) is —26 K.cal/mol
3) Heat of combustion of CO(g) is —68 K.cal/mol

4) All of the above

16. The work done in pulling up a block of wood
weighing 2 kN for a length of 10 m on a smooth
plane inclined at an angle of 15° with the
horizontal is [sin 15° = 0.2588]

1) 4.36 kJ

2)5.17 kJ

3) 8.91 kJ

4) 9.82 k]

17. The potential energy of a particle in a force field

is U = r‘iz—g, where A and B are positive

constants and ‘r’ is the distance of particle from
the centre of the field. For stable equilibrium, the
distance of the particle is

1) B/2A

2) 2A/B

3) A/IB

4) B/IA
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aglev AS CBIGB HILTS BHEEGWD?
1) H20gy — H20¢s)

2) H20¢) — H20q)

3) Hag) — 2H(g)

4) No(g) + 3H2g) — 2NHj3(g)

LedTeu(mHeuasTeuBenmLl GQLUIT(HHHALD

A) a1alwimsed eian’ Grml  |1) Gevmanal

B) seaelFengwing AStotal  |11) eiGUTgID
GrJLoamBUITEISHI

C) s HL Henev iii) Geomibs eren Gym

D) @erdw  eutujeles iv) AHyap

SQWITUITQ& Ty

alfleurdaggHe0 AU

1) A-ii, B—iii, C—iv, D-i
2) A-iv, B—ii, Ciii, D-i
3) A-iii, B—ii, C—iv, D-i
4) A—i, B—ii, C—iv, Diii

AH = AE araiLig|

1) C2Ha(g) + H2S(g) — C2He(q)

2) Cs) + CO2(q) — 2CO(y)

3) NH4HS() — NHs(g) + H2S()

4) CHa(g) *+ 202(g) — CO2(g) + 2H20(q)

1 Gomed H2SO4 syeig NaOH su60 (ppemowins
BOBBIEneLWITSSILGLD CUTG 6TaTHTe0L LOTBBLD

1) -13.7 K. Cal

2) -27.4 K. Cal

3) -6.85 K. Cal

4) +27.4 K. Cal

Ci) + %202 — COgs); AH® =-26 K.cal/mol
COgs) + %2025y — CO2(s); AH® =-68 K.cal/mol
o135 Fflwimet gaBml(HeiT)?

1) CO2 2_meurgev Geutiuib —68 K.cal/mol

2) C(s) enflgpe Geutiuid —26 K.cal/mol

3) CO(g) @t arflev Geuriib —68 K.cal/mol

4) BBy 2_6iTeN SIMTHSILD

FHeoLo Liomed 15° Bamemdhdled FTuUlhs @
Guasteniowitenr Geandhdeo 10 m  BershHmeg 2 KN
sTemLWeiTen gsh CEHT@GaHenw GBsv BULILISBS
QFuIwnL@GD Geusnev [Sin 15° = 0.2588]

1) 4.36 kJ 2)5.17 kJ
3) 8.91 kJ 4) 9.82 kJ

allewall LeudHdHev o 616 @(h HISH6T6T SLBMB6L
U= riz —g G, BFev A wBpid B gdluiene
Grywens oTpleddeT OBEID T GTETLG! Levd a6
MLOWISH HeV(HH S H1B 6115617 60T SHITTLOTEGLD.
[HlEm6VWITEI FLOHIENEVSHE), HIH6ITH6N 6T HITTLD

1) BI2A

2) 2A/B

3) A/B

4) B/A
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A spring gun of spring constant 90 N/cm is
compressed 12 cm by a ball of mass 16 g. If the
trigger is pulled, the velocity of the ball is

1) 50 ms™

2) 9ms™

3) 40 ms™

4) 90 ms

A motor of power po is used to deliver water at a
certain rate through a given horizontal pipe. To
increase the rate of flow of water through the
same pipe ‘n’ times, the power of the motor is
increased to pz1. The ratio of p1 to po is

n:1

2)n?:1

)n:1

4Hn*:1

An intense stream of water of cross—sectional
area A strikes a wall at an angle 6 with the normal
to the wall and returns back elastically. If the
density of water is p and its velocity is v, then the
force exerted in the wall will be

1) 2Avp cos 0
2) 2Av?p cos O
3) 2Av%p
4) 2Avp
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gmer ale 90 N/cm QsmewiL @b FimeiT allevedest
Beop 16 g wbal ewpsold 12 CM s(pebaILGHBSI.
ST (BHHEL BpSHSUILIL LTV, L6l Ceusid

1) 50 ms™

2) 9ms™

3) 40 ms™

4) 90 ms

CamBaHaIUl L SenLIDl L GWTUl (Lp6eld 6
GBPUILL a&HHHe0 Hewienieny QILDHIGHSHBE
goHd Po et GomLmy LWSTLGSHSLILBGSBSI.
918 @wmul auflwns Hilar UL aldladhmnsd N’
B DIHHfHH, GuomlLmfler FoHd P11 DE
SIF&fESILGEBSI. P1 OBHBID; Po allélSLD
Dn:1
2)n?:1
)n:1
4Hnt:1

GUHGOALBL  uedh A B Fely
pCyTemL wWnenigl, &eufled o eitem  GuisOLLeT O
GaTemISHFH 60 Q(IH FOUMIH HTh L561THETNLODHEH S
SEOUSBSI. BildT TS P 0BYID SiGe
Gousld V 61631MIT6V, Fioufled OlFeISHSHILGBLD allens

1) 2Avp cos 0
2) 2Av?p cos 0
3) 2Av%p
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